Purchase Order Form



Account Manager:

Kellie Smith

Purchase Order Date:

11-26-2024 18:21:00 -0500

Cell Phone:

Expected Delivery Date:

Stryker Quote Number:

10942115

Customer PO Number:

Bill To	Customer # : 20043399
Company Name :	MARION COUNTY FIRE RESCUE
Contact or Department :	
Street Address :	
Addt'l Address Line :	
City, ST, ZIP:	, ,
Phone :	

Authorized
Customer
Initials

Sold To / End User	Customer # : 20041613
Company Name:	MARION COUNTY FIRE RESCUE
Contact or Department :	
Street Address :	981 NE 16TH ST BLDG 2
Addt'l Address Line :	
City, ST, ZIP	OCALA, Florida, 34470
Phone :	

Authorized
Customer
Initials

	Deliver To	Customer # : 20041613
	Company Name :	MARION COUNTY FIRE RESCUE
	Contact or Department :	
1	Street Address :	981 NE 16TH ST BLDG 2
Į	Addt'l Address Line :	
	City, ST, ZIP:	OCALA, Florida , 34470
	Phone:	

Authorized
Customer
Initials

Description	Total
	\$4,276,722.00

Total:\$4,276,722.00

Stryker and Customer agree the Final-Stryker-Marion County-Stryker-Std ProCare TCs Exhibit A (9-26-2023).pdf are hereby incorporated by reference.

Attachment: Stryker Quote Number: 10942115

Stryker Terms and Conditions

Purchase Order Form



Accounts Payable Contact Information
Name:
Email:
Phone:
Authorized Customer Signature
Name : Kathy Bryant
Title: Chairman
Signature:
Date:

Attachment: Stryker Quote Number: 10942115

Stryker Terms and Conditions

stryker

LP35 2024 Monitor Replacement

Quote Number: 10942115

Version:

Prepared For: MARION COUNTY FIRE RESCUE Rep: Kellie Smith

Attn: Email: kellie.smith1@stryker.com

Phone Number:

Quote Date: 12/13/2024

Pricing will be held for 90 days with completion of the price hold po form and letter of intent.

Equipment Products:

#	Product	Description	Qty	Sell Price	Total
1.0	70335-000042	LP35,EN-US,MAS-SP/CO,MED-CO2,SUN-NIBP,12L,WIFI/CELL/LN/CPRIN,STD,BT	100	\$46,260.00	\$4,626,000.00
2.0	11335-000001	BATTERY, LI-ION, WITH IFU, LP35	100	\$500.00	\$50,000.00
3.0	11140-000102	CHARGER, BATTERY, LP35	50	\$1,500.00	\$75,000.00
4.0	11140-000131	POWER CORD,C13 ST,10FT,HOSPITAL GRADE	100	\$54.00	\$5,400.00
5.0	11171-000060	RD SET Adult Adhesive Sensor	100	\$225.50	\$22,550.00
6.0	11996-000508	RD SET DBI, Adult Reusable Soft Sensor 1/box	100	\$224.45	\$22,445.02
7.0	11160-000013	NIBP Cuff-Reusable, Child	100	\$17.00	\$1,700.00
8.0	11160-000021	NIBP CUFF- REUSEABLE, SMALL ADULT, BAYONET	100	\$20.00	\$2,000.00
9.0	11160-000019	NIBP Cuff-Reusable, Adult X Large	100	\$33.50	\$3,350.00
10.0	11111-000041	ASSY, CABLE, ECG, 15 LEAD, 3 WIRE PRECOR	100	\$60.00	\$6,000.00
11.0	11335-000008	KIT, STORAGE BAGS, LP35	100	\$300.00	\$30,000.00
12.0	11260-000073	KIT, SHOULDER STRAP, LP35	100	\$36.77	\$3,677.25
13.0	11335-000005	KIT, PRINTER, LP35	100	\$1,500.00	\$150,000.00
15.0	41335-000001	SHIP KIT, POWER SUPPLY, LP35	100	\$1,250.00	\$125,000.00
16.0	11330-000026	ASSY, DOCKING STATION, LP35	31	\$1,600.00	\$49,600.00
			Equipm	ent Total:	\$5,172,722.00

Trade In Credit:

stryker

LP35 2024 Monitor Replacement

Quote Number: 10942115

Version:

Prepared For: MARION COUNTY FIRE RESCUE Kellie Smith Rep:

> Email: kellie.smith1@stryker.com

> > Phone Number:

Quote Date: 12/13/2024

Product	Description	Qty	Credit Ea.	Total Credit
TR-LP15V2-LP35	TRADE IN LP15 V2 FOR LP35	85	-\$8,000.00	-\$680,000.00
TR-LP15H-LP35	TRADE IN LP15 V4 HIGH FOR LP35	13	-\$8,000.00	-\$104,000.00
TR-LPLOYAL-H1	LP35 Loyalty Program LP15 High Year 0-1	13	-\$8,000.00	-\$104,000.00
TR-ZXA-LP35	TRADE IN ZOLL X-SERIES ADV FOR LP35	1	-\$8,000.00	-\$8,000.00

Price Totals:

Estimated Sales Tax (0.000%):	\$0.00
Freight/Shipping:	\$0.00
Grand Total:	\$4,276,722.00

Terms and Conditions:

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule. Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency. A copy of Stryker Medical's terms and conditions can be found at https://techweb.stryker.com/Terms_Conditions/index.html.